1 .Daily Calculations Questions

I e

8+7= 12 x10 = 259 -100 =
10-6= 753 -22 = 126 -39 =
13-7= 85+ 10 = 9x3=

40 divided by 10 = 16 divided by 4 = 60 + 30 =

7x5= 675—100 = 40 divided by _ =10



1. Daily Calculations Answers

I e

8+7=15 12 x 10 = 120 259 — 100 = 159
10-6=4 753 -22 =731 126 -39 = 87
13-7=5 85 + 10 = 95 9x3=27

40 divided by 10 = 4 16 divided by 4 = 4 60 + 30 = 90

7x5=35 675—-100 =575 40 divided by 4 =10



2. Daily Calculations Questions

I e

10- =2 % of 8 35 divided by =7
6+5+4= _+30=75 67 + 15 =

4x10= 1/4+2/4= 90+ =105

40+ =60 _-15=30 56 divided by _ =8

8x2= 15 divided by 5 = 176 —10 =



2. Daily Calculations Answers

I e

10-8=2 hof8=4 35 divided by 5=7
6+5+4=15 45+30=75 67+ 15=83
4x10=40 1/4+2/4=% 90 + 15 =105
40 +20 =60 45 -15=30 56 divided by 7 = 8

8x2=16 15 divided by 5 =3 176 — 10 = 166



3. Daily Calculations Questions

I e

63-_=61 896 — 81 = _-60=120
10+20+10= 234 + 761 = 2/3 of 18 =
% of 50 = 546 — 132 = 3/11 +2/11 =
40-10-10= 6x3= _Xx8=24=

11+20= 7/9-2/9 = 360 - 80 =



3. Daily Calculations Answers

I e

63-2=61 896 — 81 =815 180 -60=120
10+20+10=40 234 +761 =995 2/3 0f 18 =12

%> of 50 = 25 546 -132 =414 3/11+2/11=5/11
40-10-10=20 6x3=18 3x8=24

11+20=31 7/9-2/9=5/9 360 — 80 = 280



4. Daily Calculations Questions

I e

15 divided by 3 = _+10=83 634 + 60 =
31+40= 496 —-72 = 562 + 349 =
42 + 12 = 341 + 100 = 894 —90 =
% of 44 = 16 divided by 2 = 1/5 of 45 =

35+15= 100 divided by 10 = 8x6=



4. Daily Calculations Answers

I e

15 divided by 3 =5 73+10=83 634 + 60 = 694
31+40=71 496 — 72 =424 562 + 349 =911
42 + 12 =54 341 + 100 = 441 894 —-90 = 804
% of 44 = 33 16 divided by 2 = 8 1/50f45=9

35+ 15 =50 100 divided by 10 =10 8x6=48



5. Daily Calculations Questions

I e

30 divided by 10 = 97-10= 78 -19 =
v of 16 = 36 +45 = 86 + 101 =
72-12 = 7x3= 12/13-2/13 =
19+9= _x2=16 100x 2 =

1/3 of 3 = 18 divided by 3 = 39+8=



5. Daily Calculations Answers

I e

30 divided by 10 =3 97-10=287 78—-19=59
nofle=4 36 +45 =281 86 + 101 =187
72-12 =60 /7x3=21 12/13-2/13 =10/13
19+9=28 8x2=16 100 x 2 = 200

1/30f3=1 18 divided by 3 =6 39 +8=47



